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Fritz 9
Fritz 5.32

Blitz:4'+2" (2) 15.10.2006
[Fritz 9 (15s)]

B08: Pirc Defence: Classical System
 1.e4  g6  2.Nf3  Bg7  3.d4  d6  4.Nc3  Nf6
 5.Bc4  0-0 last book move  6.Be3  e5

 [ ¹6...Nxe4!? and Black can hope to survive
 7.Nxe4  d5² ]

 7.dxe5±  dxe5  8.Qxd8  Rxd8  9.Nxe5
 Nxe4?? Black has lost his nerve...
understandable when you consider his
position

 [ ¹9...Be6  10.Bxe6  fxe6+- ]
 10.Nxf7

 [ 10.Nxe4?! is a weaker possibility  Bxe5
 11.Ng5  Rd7² ]

 10...Bxc3+  11.bxc3  Re8
 [ 11...b5 cannot change destiny  12.Bb3  c5
 13.Bxc5  Nxc5  14.Nxd8+  Nxb3  15.cxb3+- ]

 12.Nd6+  Be6
 [ 12...Kf8 doesn't get the cat off the tree
 13.Bh6+  Ke7  14.Nxe4+- ]

 13.Nxe8  Na6
 [ 13...Na6  14.Bxe6+  Kf8+- ]
 [ 13...Bxc4 doesn't improve anything
 14.Nxc7  Nxc3  15.Nxa8+- ]


